Efficiency vs P,

+0.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01
0.005

Ratio

............................................

...........................................

.........................................

0

ey

HE3

107 1 10

. Gedf’

—=— DQM_mKFIt_T1orignal

—e— DOM_mkFit_TTNEWnoMS-genMatch-CUT2
—— DQM_mkFit_TToriginal-106

—— DOM_mkFit TTNEWMS-genMatch-CUT2

[y

0.95

Efficiency vs ¢

=0.02

018F
016f
014F
0.012F

etjcIgnCyys

0.0} -
0.008f: -
0.008f}:-
0.004f -
0.002fk-

.........

.........

o J.UG:I L et b }
T : : :
o H: H K )
1 - - - o = - - -
0951l i ; i
-3 -2 -1 0 1 2 3



	Contents
	Page 1


